r
JTSSE SAMPLE QUESTION PAPER& ANSWER, CLASS-VI

GROUP A
SCHOLASTIC APTITUDE TEST : t*if3 eiqerel srerw!
Total Marks : 50 E@SW 8 @o
Each question carries One Mark : 2fSto! 241 A3 > 799

@@« (Science)

1. 5 —— (ToRita TR 21 |
The bird’s — are transformed into wings.
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I
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I
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I
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: a. G (Bone) b. T+ (Gill)

I c. 9i2% (Forlimb) d. =53 cF35! (All of these)
| 2. o o) Colll SRRy To—

| The fiber obtained from the fruit is —

I a. SI(G (Jute) b. feTe== (Linen)

I c. 3712 (Cotton) d. ¥4l (Muga)
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

3. OO (PN HadIG Bflns Swigad ¢
Which one of the following is an example of gymnosperm?

a. 9y (Mango) b. & (Lychee)
c. #1251 (Pine) d. =5iZ35! (All of these)

4. RIAGROE T TS Tle] Zo—
The longest bone of human body is —
a. &% (Femur) b. (Bf?[& (Stapes)
c. (PR (Cartilage)  d. %G (Spinal Cord)
5. @pEPeRaRk gE—
The respiratory organ of earthworm is—
a. «lI (Nose) b. T (Gill)
c. =i (Skin) d. 20SFIE (Lungs)
6. OO (FERK 2N ST 27iLS TrRde—
Which one of the following is a water-insoluble substance is —

B I I I EE——————————]



a. 5% (Glucose) b. aifeT (Sand)
c. (5 (Sugar) d. fsr4 (Salt)
7. TS AR TR BT (7 246 T061 A —
The solution with the highest amount of solute is —
a. 3™7& < (Saturated solution)
b. 96 @< (concentrated solution)
c. 379 @< (Dilute solution)
d. 2T« (Suspension)

8. 1:E=——306
1 yard = —— Feet
a. 7 b.3 c. 10 d. 30

9. R (FINK omiel Ryred sif{arR a2 |
Which one of the following is not a conductor of electricity.
a. O (Copper) b. =7 (Silver)
c. (/i35 (Graphite) d. 2% (Plastic)
10. 7% pRFS (I SIHS S 61 (@ ?
Which part of the bar magnet has the highest force of attraction?
a. (9 (Pole)
b. & w#19 (Centre)
c. (a) o= (b) 9EAGIE (Both (a) and (b))
d. @bre 727 (None of these)
1. s (@Ers AR mR—
The image at Pinhole Camera is always—
a. S0l (Inverted)
b. 8% (Erect)
c. (a) o= (b) 9EAGIE (Both (a) and (b))
d. @bre 727 (None of these)
12. OO (FARK T ©I7[ 271 Ry Soive 351 2
Which one of the following converted the heat of sunlight into
electicity?

a. (TSGR (Barometer) b. (TR (Solar Panel) |




c. (327 9%t (Rain Gauge) d. 2i32’fG (Hygrometer)
OoR (IR (v fon SN weE—

Which one of the following is not a Electronic waste?
a. 3125 (Mobile) b. AI’F (Thermocoal)

c. FT6[E (Computer) d. (7561 (Laptop)
“(ol20 o1 RGeS fFoiAids (#13< wnfee—

The author of the book “Gait of Animal” was

a. TG (Darwin) b. (TN (Lammark)

c. (25’ (Plato) d. af¥¥5°# (Aristotle)

712 ©iZ 2R TIGa 2] 5 2F 391 2GR (@I 27—

The process used to separate cotton fibre from its seed is called—

a. falfi2 (Ginning) b. FIf (Spinning)
c. ©2feg (Weaving) d. G2 (Knitting)
SIS 07 (=11 2fEFICHT @Bl—

Changing of milk into curd is a

a. IPI Af@F (Chemical change)
b. (S1fess @lfE 2l (Physical change)
c. YIG1Z (Both (a) and (b))

d. @be 727 (None of these)

e (D] TRl A R 2

Which one of the following is not volatile material?
a. (?15’s (Petrol) b. 15 (Wood)

c. Pif<G (Spirit) d.(.?RlTCQIT%"IH (Napthalene)
OO (PICH] W% 2

Which one of the following is correct?

a. I =3 x 7qg (3799)

(Work done = Force x Distance)

b. B =3 x @l

(Work done = Force x Velocity)

c. I ==& x kSN



(Work done = Energy x Distance)

d. ¥ ==f& x @l

(Work done = Energy x Velocity)

NI R S 716 519719 A ATINE 7 (GBI ZoT—

The vitamin essential for growth of our bones and teeth is—

a. B-Complex b. K
c. E d.D

O (FITCH! ST 791 AR (0T W12 41 27 |

From which organ of plant, the mustard oil is produced.
a. 719 (Leaves) b. T (Seeds)

c. 1% (Stems) d. fi=fl (Roots)

(IfRTRI#I® &1 (FCH! NI AR N T ?

Which principle is used in periscope?

a. A= (Dfiffraction) b. &5ga¢ (Dispersion)

c. fowe (Reflection)  d. 2fo7el (Refraction)

TZI WS OoT] (FITCH! ALl AT 2
Which one of the substance is found in human teeth?

a. G (Aluminium)

b. @=C3eT (Anamel)

c. @=7% (Alnico)

d. @bre w27 (None of these)

SR (IO SRR ol ?

Which one is a non-magnetic material?

a. (&7l (Iron) b. 9te1 (Nickel)
c. @M (Gold) d. F3r% (Cobalt)

©F, ¢ I TS SI GFFEIF 2 oT—
ST units of Mass, Distance and Time are—

a. &%, (RGO, (=% (Gram, Centimetre, Second)
b. [FeTel, o, (=% (Kilogram, Metre, Second)
c. TSlferelisl, NG, (=@e (Milligram, Metre, Minute)




d. 8755 @bl 7237 (None of these)
AN TS SBIREF (e AR 4 CoefKd 2o —

The gas with highest percentage in the atmosphere is—

a. S (Oxygen)

b. 218G te (Hydrogen)

c. <25t (Nitrogen)

d. FE9-Ti3-51913C (Carbon di oxide)

aifre (Mathematics)
658742 FRFICHIS 8 F FIF I Ik e Wiwie #1195 39—

In 658742 the difference between the place value and face value

of the digit 8 is —

a.0 b. 42 c. 693 d. 7992

OO (PICD] W% W2 2

Which of the following is not meaningful?

a. XXIII b. XII c. XVV d. X1V

3 Reisi i 11, 28, 36 945 (< KeTey (=171 GRS 7 HNH!
To—

The smallest number which when diminished by 3 is divisible by
11, 28,36 and 45 is —
a. 1257 b. 1260

c. 1263 d. €51e 723 (None of these)

Tt 23450605 A 3 S 5 (I =)ol [Torey 27, (0 a+ b3
A{ES W 2T—

If the number 2345a600 is exactly divisible by 3 and 5, then the
maximum value of a + b is

a. 12 b. 13 c. 14 d. 15
1735 x 1232 — 1735 x 232 =2

a. 17350 b. 173500

c. 1735000 d. 173505

86 + (-28) + 12 + (-34) =2

a.—36  b.40 c. 36 d. - 40



7 1
6Ewmw 5! FRCE e 8; (21 FRATCG! To—

. 7 1
The fraction to be added to 6— to get 8—

15 5 is equal to—
s 15 “ 3 " 44

45 3
0 SR T P X INTZI—

45 3
If 0 is equivalent to < then the value of x is—

a. 3 b. 6 c. 4 d. 9

2.5+3.05-4.005="?
a. 1.545 b. 1.455 c. 1.554 d. 0.546

3 + > =7?
100 10000

a. 0.35 b.0.305 c.0.0305 d.0.035

Tt 2x2y B 3x)? TN G5! ST T O 2% 2F, (90T TSR
i g—

If 2x?y and 3x)”* denote the length and breadth of a rectangle, then
its area is —

a. 6xy b. 6x%? c. 6x%? d. x%3

G2 qICE 3 TBTS 126 B O @97 (=1 5 91 315 [ alfe
a0, PrRed siferae SReie ol T9—

If a bus travels 126 km in 3 hours and a train travels 315 km in 5
hours, then the ratio of their speeds is —

a.2:5 b.2:3 c.5:2 d.25:6

wa(h! Aife Tfetedl (Choose the correct option)

<l 2@ (e A7i—
A reflex angle measures—




a. 90°9(F (MR, 180° ©LF T3
(More than 90° but less than 180°)
b. 180°9( (Afg, 270° O T
(More than 180° but less than 270°)
c. 180°9(F (AfR, 360° ©lF
(More than 180° but less than 360°)
d. 855 @bl 7237 (None of these)
39. ¢l fages Wb (@R 7 90°9(F @R T 0 [qgers—
A triangle whose one angle is more than 90°is called—
a. Tawa2 {9ew (a scalane triangle)
b. I fG€S (a right angled triangle)
c. ’f[‘fﬂmﬁ 4% (an acute angled triangle)
d. W‘iﬁ 4% (an obtuse angled triangle)
40. €5 PYETH WG ITF RIS A2 TN 2 05 BYG GO — (N |
A quadrilateral having one and only pair of parallel side is called —
a. <1 AT (a parallelogram)
b. @bI BT (a kite)
c. bl 9917 (a thombus)
d. @b (GroIfSaI (a trapezium)
41, wo! e e ees @RS Kaes! 36 o e 21 2
How many circles can be drawn to pass through two given points?
a. 1 b.2

c.3 d. ©R4J (Infinite)
42. <5 SIS G I HIfoF A4

Total number of edges of a cuboid is—
a.4 b. 6 c. 8 d. 12

43. @B 2efq I ATS o ZA—
The total lines of symmetry of a square is—
a. 1 b. 2 c.3 d. 4

O (FICH! (T = (e 723 |



Which of the following number neither prime nor composite?

a. 10 b. 1 c.2 d.3

25 %251 1 5l fomstiey i 2

What fraction of Rs. 1 is 25 paisa

a. L b. L c. 1 d. L
2 4 8 10

I Hath i Szl igx Fife1 29—
The area of the shaded portion of the given figure is—

<——100f. (m) —

NI
S
UL e
g A
/
! /
N———
2 f¥.(m)
a.300m*> b.310m> c.316 m* d.320m?
O (G191 AR} =R 2
Which number of the following is not a square number?
a.24336 b.9216
c. 36000 d. 7921
? forta 912 & 14t af2a 2
What will be the number in plaec of ?
o 1_1
4 4
1 1
a. 5
3 i
c



49. R (IO fags i ARA 2
Which one of the following number is a triangular number?

a.5s b.9
c. 10 d. 12

50.  «€b! TSR WK SIS 21 SRl 7:5 SN 2319 SAfB 96 (= 2
TR T TI—

I

I

I

I

I

I
The sides of arectangle are in the ratio 7:5 and its perimeter is 96 :
cm. Then its length will be— I
a.l12cm  b.28cm  c¢.35cm  d. 14cm I
I

I

I

I

I

I

I

I

GROUP :B

MENTAL ABILITY TEST : 95 Aiwe S
Total Marks: 50 : ‘8{3 9498 o
Each question carries One Mark : 2if$t5! 21 31t > 791

Direction : In each of the questions 51-55, a series is given with one
term missing. Choose the correct alternative given below that will |
complete the series.

e s oo 51 5sa\wamcaﬁﬁmw|ﬁwmmwznﬁI
SIZI A GBI 27 el R #11eal A0S HTIB! 770 27 | |
51.A,GM,S, — I
(@Y (b) X (c) Z (d W I
(e) None of these Y3(ART GBS 723 | I
52. EJ, DI, CH, BG, — |
(a) BF (b) BG (¢) AF (d AG I
(e) None of these Y3(ART AGIS 723 | I
53. AEI, BFJ, CGK, — |
(a) EIM  (b) DHL (c) FIN (d) GKO :
(¢) None of these G3(ART GIS 77 | I
54. 19, 36,53,70,— I
(a) 87 (b) 88 (c) 89 (d) 90 |
| (¢) None of these G3(ART GIS 77 | |



| 55.17,22,25,30,33,—
| (a) 38 (b) 39 (c) 40 (d) 41
(¢) None of these G3(ART G1S 77 |
Direction : In questions 56-60, there are four terms in each question. |
The relationship that exists between the first two also exists between |
the last two. But one term is missing. The missing term is one of the |
five alternatives given below. Find out the correct alternative for |
each question. I
ATl § 56-60mR 2R 2ifSCB BIRGITE #i% Stz | 3AI 2w 451 Srere |
<] STHIECB (<R MBIE e 2 | 5% 1 2 o (2 ez | #col |

27e #AI55! e o< Fefa FfRa st |
56.10:70: :20:?
(a) 40 (b) 70 (c) 140 (d) 170

I

I

I

I

I

I

I

I

I

I

I

: (¢) None of these G3(ART G1S 77 |

| 57.W:4::D:?

| (a) 4 (b)5 (c) 21 (d) 23

I (e) None of these YZ(IRT «HIS 72T |

| 58. EfGh : hGfE: : PqRs : ?

: (a) RsPq (b) sRqP  (c) gPsR (d) StQp

| (e) None of these Y3(ART GG 723 |

| 59. River : Bank :: Sea:?

|  TlzARe s 2

| (a) Water (b) Port (c) Coast (d) Island

I (e) None of these YZ(IRT «HIS 72T |

: @R G)TE (T (d)E
60.L:50: : C:?

: (a) 50 (b) 100 (c) 500 (d) 1000

| (¢) None of these G3(ART G1S 77 |

| Direction : In questions 61-65, each has five terms. four terms are |

| alike in some way while one term is different from others. Find the |

: odd one out. I

I

TR 8 616578 205 2ATTHITS SHBB! ~17 ST | B BIf5! {1 el :



@91 ()92 (©)93 ()% (e)95
.(a) 100 (b) 144 (c) 196 (d) 256 (e)326

NORIES (b)R&Em  (c) s
(d) &1 (e) geanet
(a) Mathematics (b) Science (c) Textbook
(d) History (e) Geography

. (a) A=EH (b) TR (c) 431

. (a) PAEL (b) WVU (c) TSR (d) QPO (¢) NLM

. LEAF =[5l ST (Sl (a2

. If BIA is written as 291 than what will be DEAD in that Language?

. In a code language FATHER is written as 347156. How is RATHER

If 771, Y=2, X=3 etc. then K=?
M Z=1, Y=2, X=3 etc. TOC% K=?
(a) 16 (b) 15 (c) 17 (d) 14

13 |9 51 fom i T | ReTgich1 ifb Sfenean |

(d) fe>s (e) femepg
(a) Jorhat (b) Sibasagar (c) Dhubri
(d) Silchar (e) Dimapur

What will be the mirror image of the word LEAF ?
(@) FAEL ~ (b) 9a31 (¢) 4vAL  (d) JEVE

I BIAT 961 ©Ie 291 251t fo7< 22 t9r8 DEAD < 5 f2pitel ferl
T ?

(a) 5414 (b) 4514 (c) 4541 (d) 5415 (e) None of
these (GZ(AITT OIS 72T)

written in that code?

@y o ©rRe FATHERS {121 231 347156 251171, (712 e
RATHER® f& gfe feifeq 2

(a) 674156  (b) 641756 (c) 656471 (d) 647156

(e) None of these (43(ART 9BI€ 7ZX)

(e) None of these (43T GBIE 7ZX)



70.

71.

72.

73.

74.

If 1=5,2=10, 3=15 etc. then 11=?

M 1=5,2=10, 3=15 29 W to@ 11=?

(a) 55 (b) 50 (c) 45 (d) 60

(¢) None of these (43R Bl 7Z3)

A man is standing towards north, what is the direction of his right
hand.?

GG N Te{l 12 [T T2 W07 | T0eT Frodd (B =o ey ?

(a) North (3&9) (b) South (W) (c) East (58) (d)  West
(GRS

(e) None of these G3ARE OIS 7= |

In the adjacent figure arrow no.1 is directed to the west. What will
be the direction of the arrow no.2?

I
|
|
I
I
I
|
|
|
I
I
I
|
|
I Hae 192 FITTIE ARG T2 AR | 27 FICTH (TR T SR ? :
1 4 |
X '
|
2 3 |
(a) North (8€9)  (b) East (%7 (c) South (#f&) (d)  West |
(If*5a0) (e) None of these “3(JRT «GIS 72T | I
D is the daughter of N. M is H's wife. N is H's daughter. How is D :
related to M ? |
DT NIGESIl MTFHI 2G| N,HI GiI<i I D,M3Ifszm 2 |
|

I

I

|

|

|

I

I

I

|

(a) Sister (b) Grand mother

(c) Mother (d) Grand-daughter

(e) None of these

(a) ol (b) =izl ()=
(d) =ifeat (e) “ZTART «BS 72X |

A is B's husband. E is D's daughter. C is B's son. C and D are
brothers. How is A related to E?



A, B3#fS, E,DIGRS, CTABIAGICIFE DR SR IA EIF |
o3 7

(a) Grand father (1) (b) Uncle (331)
(c) Father (f#1®1) (d) Son (7[@)
(e) None of these “@2(AITT GbI€ 72T |

I
I
I
I
I
75. D and S are sisters. A and B are brothers. M is S's son. B is D's |
father. How is A related to M ? :
D% S ARG | ATIF BOR R 1M, S1791 BZ#,D g1 A M |
fezme I
(a) Father (b) Brother (c) Grand father I
(d) Uncle (e) None of these :
(a) forel (b) =R (c) =1 (d) et |
(e) GBART «HI8 T2 | I
Direction : In each of the questions 76-80, a number of letters have I
been given. The letters may be rearranged to make some meaningful
words. You have to mention the first and last letters of the words
from the given alternatives— I
eI 37680 27 &fSTBICS frgaiv oii%ie frall 0207 | I3 SRS Toni I
T2 FRRgatIe Srefsjef 97 510w R 7R | 42 TR AL (K BN |

oI s CeoTRs 791 Brad SR =1l | |
76. FASO |
(2) S, A b A0 (©OFS ()FEO ()O,S |
77. KSDE |
(2) S, D ® E,K  (©D,K (KD (e)S,E |
78. BHENC :
(2) B, C ) BH ©CH @EC @HN
79. HAIRC |
(a) C, R ®» LR (©AR @RH@CH |
80. BATLE |
(a) B, T ® TB (AE (dBL |

I



() T.E |
Direction : In questions 81-85, numbers are placed in the figure on the |
basis of some rules. One place is vacant and indicated as a question |
(?) mark. Find out the correct alternative to replace the question |
mark. |

ot ¢ 81-8571 2 elfSThITs g s wsigs ffe F1 fgaa s |
fous C1re el T20R | ©ItE Wbl B U] ST SIS O « bl 2@ b |
(?) =NtE | 2HAES hze i 327 ias Tea@ies «[ e 541 |

13 16 21
o 1217 1413 19@19
18 17 N

(a) 40 (b) 50 () 60 (d) 70
(¢) None of these U3 «HI€ 7T |
5 6 9
N/ N/ NN
2 5 4 3 4 9

(¢) None of these (U39 GBI 773)

(a) 20 (b) 21 (c) 22 () 23
(¢) None of these (42T «Be 723)

83.

W

|
|
|
|
|
|
|
|
|
|
|
|
|
|
(a) 14 (b) 25 (©) 36 (d) 45 :
|
|
|
|
|
|
|
|
|
|
|
|
|



4 5 3 4 3
. ©,
8 1 4 5 5 2
(a) 32 (b) 36 (c) 49 (d) 64

(¢) None of these (42T B 723)

3 3 3]
gs 13112 2] [543 [3]2]3 ]
2] 3 Bl
(a) 20 (b) 24 (c) 25 (d) 48

|

|

|

|

|

|

|

|

|

|

|

|

|

|

: (e) None of these (G27AIRT €I 723)

| Direction : In questions 86-90 there are three problem figures fol-
| lowed by a question mark (?) for the fourth one. There exists some
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

relationship between the first two problem figures.A similar rela- |

tionship should exist between the third and the fourth problem fig- |

ures. Find the one from the answer figures that correctly replaces |

the question mark. |
ot 3 86 7 411 90w 2R FSfFGiTs 7P f5g i< bwefthre « B! emitaiss |

5% (7) W= | 22 751 e R 71 57~o1F itz $oi % vodre ¢ |

AT 46T T A | T fbaptza «[1 v foacs! fefa i@ #rest |
86. Problem figures: =11 foq

ANV IO

Answer figures: Seqfba




87.Problem figures: w1 5@

Y

[

Answer figures: ¥ foq

{

¢

(a)

(b)

88.Problem figures: =77 5@

(©)

(d)

O

[
%

q | -

Answer figures: Seqfba

AN | D ]
U 6 J
(a) (b) (c) (d)
89.Problem figures: =77 @
FIVE| 4 || SIX | 2
Answer figures: ¥ foq
3 4 ) 6
(a) (b) (c) (d)
90. Problem figures: 571 foq
(JE || O | »

Answer figures: ¥ foq



(a) ®  (© (d)

Direction : In question 91-95 on the left side three problem figures
are given and a question mark (?) is put for the fourth. The problem |
figures have some relations in their sequence. Pick the correct an- |
swer figure which can replace the question mark. |

o 913%953\Wﬁﬁﬁmﬂw% izl =g o< 5o dtore
@51 2RI 5% ((2) B | 377! HaTEa S 1 Wb 7195 Itz | Teq
a1z #1 @bl foa fFioa St AITe el 5z el 72 -« a7 |

91. Problem figures: 571 foq

+| x | x |
= | 7= | T ?

I | X I I
T | T T | F

(a) (b) (c) (d)
92.Problem figures: s=mi foq

QT A 2

Answer figures: Seqfba

Lo —— /N L

(a) (b) (c) (d)
93.Problem figures: =1 6@

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
: Answer figures: Seqfba
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I



Answer figures: Seqfba

I K —

(@ (b (c) (d)
94 Problem figures: s=myi foq

20122016 (2020 | ?

Answer figures: Seqfba

2021 (2022 (2023 | 2024

(a) (b) (©) (d)
95. Problem figures: 311 fo@

214 3[3 412 9
113 41 214 :

Answer figures: ¥ foq

3|2 414 116 1]1
3[5 115 112 24

(a) (b) (©) (d)
Direction : In question 96 to 100 given below there are four figures in

each question. three figures are alike in some way while one figure
is different from others. Find the odd figure out.

ot ¢ 96 7 541 100 empryes dferbice sifGits foa i @icg wia fofibl |
Tl pigere g a1 e 2l b1 Rempel <1 oifie | @R wifie foucht Aif |




w | = [=]=]4
(a) (b) (©) (d)

(a) (b) (©) (d)

99, W H Z Y
(a) (b) (c) (d)

Vv | v ] ©)
100. A ] O Te)
(@) (b) (c) (d)

GROUP:C
GENERALKNOWLEDGE & CURRENT AFFAIRS
YT T A ANEE o2

Total Marks: 40 : 35 799 ¢ 80
Each question carries One Mark : 2S5t 2= aita > w791

101. SICR-TI-N! {F b ©gets N2 ?

In which year Vasco-da-gama did come to India?
a. 585359 (1492 AD)
b. 585 B9 (1498 AD)



C. €359 (1592 AD)
d. &> 59 (1598 AD)
102.  if3Ta F6361 (450K (/0T (I (7R (ST 2
In which country does the renowned footballer 'Pale' belong?
a. 9963 (Norway) b. &l (Germany)
c. Jif&e (Brazil) d. =TS a1 (Argentina)
103. gl qeHisife famie frg 2'e—

The father of modern genetics is—
a. (3b= (Bateson) b. TITS (Harvey)
c. TI83 (Darwin) d. 0% (Mendal)
104. THFI TR QR (KT SN (FITT (I SN TR0 2

Which of the following countries is attacked by terrorist
organisation 'Hamas' recently?

a. (I¥1s7 (Nepal) b. =414 (Israel)
c. 3d19 (Iran) d. 3t7% (England)
105, TSI SP1E K@ 5@ (i 2
Who is the present finance minister of Assam?
a. 3f&© 7 (Ranjeet Dass)
b. 5 (WZ SRS (Chandra Mohan Patowary)
c. Tz e (71 (Dr. Ranoj Pegu)
d. 9e@l (a9 (Ajanta Neog)
106. 1! 716 % (AL O B2 2
On which river is the Bhakra Nangal Dam situated—
a. 1§ (Indus) b. 912911 (Ganga)
c. T (Yamuna) d. *ro& (Sutlej)

107. i< 2@l A1 S h! 19 2
Who gave the slogan 'Do or Die'"?

a. >9l¥ 9% (Subhas Bose)
b. T2 9! (Mahatma Gandhi)

C. GI2SeTe (12<¢ (Jawaharlal Nehru)




d. (aNsTiRI™t awest (Gopinath Bordoloi)
108. SReIIGR e F2
What is the National Animal of India?
a. Q9! (Goat) b. 1%z (Lion)
c. A9 (Tiger) d. 2/%9 (Deer)
109. (@I &7 TR ST I 3701 13 e 2
Nepal King Joydev married which of the following girl?
a. ool (Amritprova)

b. IETTS! (Rajyamati)
c. &1 (Usha)
d. SIS T (Monomati)
110.  SfAo/ s @R RISTA (911 1910 FRILS 2L (I 55! Teiaid] Triew
R ?

Which of the ethenic groups are mainly associated in the recent
ethenic clash of Manipur?
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I

I a. (Bhs — AR} (Maitei — Khashi)
| b. GIZ6% — T2 (Maitei — Kuki)

| c. (I2h3 — 4lIeal (Maitei — Garo)

I d. 1 — N (Kuki — Hmar)

: 111, s Rei biefz TReen (@ oeR T ?
I
I
I
I
I
I
I
I
I
I
I
I

Famous scientist Charles Darwin belonged to which country?
a. (7T (Poland)
b. 3(51% (England)
c. (TOCeTYR (Netherlands)
d. {1t (Finland)
112. RN =R e @RIz
Who is known as the 'Bihagi Kabi'?
a. igeelTw TeIS (Bishnu Prasad Rabha)
b. b% FIF N9 (Chandra Kumar Agarwalla)
c. TG (514SIF (Raghunath Chaudhury)
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d. TifeT == (Nilim Kumar)

TSR P FIFC! SIAre F17 T5+1 Fffes 2
In which one of the languages, Mahakavi Kalidas composed his
verses (Books)?

a. {2771 S (Hindi language)

b. #/ifeT SIA® (Pali language)

c. %9 WA (Sanskrit language)

d. ST S (Assamese language)

O AT HLTTE | (I 2

Who is the present Prime Minister of Bangladesh?
a. (99 Qem! (Begum Khaleda)

b. 7=l 79 (Bilkis Banu)

c. (%2 el (Sheikh Hasina)

d. 2fewl 24 (Waheeda Rahman)

(A4S (IS (2R e —— |

Gomdhar Konwar is a :

a. 93 (Singer)

b. &t A& (Freedom Fighter)

c. G i@ (Biologist)

d. f2fer=s (Literateur)

OIS 1 eI TG (5357) WoHIH IO ST [ 15—

The captain of the present one day Indian cricket team (male) is —
a. 2@ PR (4191 (Mahendra Singh Dhoni)

b. (5T 91€1¥ (Gautam Gambhir)

c. @z =it (Rohit Sarma)

d. (¥ OIS (Sreyas Ayer)

TS SHIBO(F S5TS AF| THACH[ % F 2

Which is the star nearest to the solar system?

a. fofag (Sirius)
b. &'"z (Orion)




118.

119.

120.

121.

122.

c. 2fIl (5G] (Proxima Centauri)

d. 94 &% (Mercury)

3039 5 T (WINTZR 51 7S 41 ST T Ea_NF | L o—
The man of Assam who won the Ramon Megsaysay Award, 2023
is —

a. % SN (Kofi Annan)

b. 3@ = (Ravi Kannan)

c. 2 =I==St (Hamid Ansari)

d. 9Kf#[F Rqe (Prof. Rangarajan)

PTFEE STSICA (PICT ST enifeifee 2

Who brought the 'Burmese' to Assam?

a. #1If>® <953 (Lachit Borphukan)

b. 4 9% (Badan Barphukan)

c. A9 & (Bagh Hazarika)

d. SIe= JpICaIRTE (Atan Buragohain)

PSLV 3 579} 1 2A—

The full name of PSLV is —

a. Propellar Satellite Launch Vehicles

b. Polar satellite Launch Vehicles

c. Payload Satellite Launch Vehicles
d. Proper Suttle Launch Vehicles

AL SPT Rl Sfedma % [ 2

The first Assamese printed book is —

a. S (Arunodoi)

b. 43(%%< (Dharmapustak)

c. ST A (Assamese Ramayan)

d. 3i3caeT (Bible)

TS ST I (I3 92 F91 W1 oF NI 1 2

What is the name of the International Boundary Line between
India and China?

a. Tl #1234 (Durand Line)




b. (AR &112+ (Macmohan Line)
c. (ACFF =iz (Radcliffe Line)
d. @s1 % 5 (L.0.C.)

123. SII9F 2N AJF HeIbba s —
The first talkie made in India is —

a. MMiT 2f& (Mother India)

b. N7 ST (Alam Ara)

c. 9! (Gandhi)

d. %7 2¥*6% (Raja Harishandra)

124. GRRIEAR (2 65T ey [ et oy e 2
What did Jawaharlal Nehru call Manipur?
a. Scotland of the East
b. Jewel of India
¢. The Kashmir of East
d. Switzerland of the East

125. OoR (SFINGRIF] ST RIZ 2029 570 BN1F & & 20| 7S FIR(Z ?
Which of the following Assamese obtained [AS in 2023?
a. 20 ¥ (Hima Das)
b. ©iz 3 &< (Dr Mayur Hazarika)
c. S W (Rima Das)
d. ©° S 9% (Dr Mayur Anand)
126.  SRIFHITET QI 2/ TR IRIFT (i 2

Who was the first man to go to space?
a. TIs1 SNER (Neil armstrong)
b. g 9NN (Yuri Gagarin)
c. WgF S (Mike Fincke)
d. ! =il (Rakesh Sarma)
127. “GNRATSNG (I AT (RITR 79 2
'Mohiniyattam' is the temple dance form of —
a. 3{5% (Karnatak)
b. SFA™* (Andha Pradesh)




c. OIfSEIg (Tamil Nadu)

d. (90l (Kerala)
128, 2029 TS 7! BT FICH 5! 571 FRA—
Dada Seheb Falke award winner in 2023 is —
a. qif2wl =30 (Waheeda Rahman)
b. 9% @&Fers (Rakhi Guljar)
c. %! SIersT! (Shahbana Azmi)
d. &3 61 (Jaya Bachhan)
129. ST ISIE SR 41 LT OIS ¥ WZeA9_F T e—
Who is the first Indian woman to climb the Mt. Everest?
a. (191 ¥ (Mary Kom)
b. ATz ! #& (Bachendri Pal)
c. % T &=t (P. T. Usha)
d. % oieel (Kalpana Chawla)
130. (IR (7S 2ifegra A «ifs v a1 23 2
In which country the president is elected every year?
a. ©[qe¥® (In India)
b. 5% (In China)

c. 32eaeTe® (In Switzerland)
d. €519 (In Bhutan)

131, <ifes @i 6 3 ol A2

What is the name of the currency of Russia?

a. @ (Lira)b. @&1i9 (Dollar)

c. #®¢ (Pound) d. <<% (Ruble)
132, ‘o101 2030 5T© (T o1 Ffcz 2

Who won the 'Gandhi Peace Prize' in 2023?

a. SqIM! (2% (Bhabani Press)

b. 4Trel (2% (Geeta Press)

c. ©99 (2% (Bhagawat Press)

d. #f9ge (2% (Sribishnu Press)




133, fpd Aifete gl 21 I ' SRR ?
The headquarters of World Trade Organisation is in—
a. S« (Japan) b. c&rtTel (Geneva)
c. T @9 (The Haque)  d. 187 (New York)
134. #9199 (6! 2fg BRSO Tiea 2
Which is the largest gland in the body?
a. 32 (Kidney) b. IF< (Liver)
c. 9AI* (Pancreas) d. @@ (Small intestine)
135, 2029 79 GfRHI (91R TT] (T 5T SIS (Z0Z ?
Asian Games, 2023 is held in which of the following cities?
a. 5’ (Tokyo) b. 2 (Hangzhou)
c. 2841 (Seul) d. (#If5 (Paris)
136. W (J© [FoR e g f2em's ([T Ta—
Writer of 'The Red River and Blue Hills' is —
a. (M9BI¥ 941 (Debakanta Barua)
b. (29 9541 (Hem Barua)
c. RI& (a12f3 (Hiren Gohain)
d. 9oiF 2/eissl (Bhupen Hazarika)
137. (AR (o O 9% e #AfRbo—
M. F. Hussain is famous for —
a. fRe7 (Literature)
b. o@==l (Painting)
c. 96 (Drama)
d. (i< SIS (Scientific discovery)
138. 2029 3%S (&I wLRGaiTe 7w 61 #1© FR0R ?
Who won the Nobel Prize in Economics in 2023?
a. iffg = (Narges Mohammadi)
b. &1 o'fee (Claudia Goldin)
c. & %23 (John Fosse)
d. sTret (afioTie (Geeta Gopinathan)




139. ‘IS A S (FT4 52T SRIFS ?
'Burj-Al-Arab' is situated in —
a. (O1Z (Doha) b. T4 (Dubai)
c. 28 (Hongkong) d. 91 (Baku)
140. 'Wings of Fire' &84 (&4 (I ?
Who is the author of the book "Wings of Fire'?
a. %7 3% (Ruskin Bond)
b. 29l 91T (Mahatma Gandhi)
c. @ 9 (& SIg&t S (APJ Abdul Kalam)
d. S<I2SeTle (2= (Jawaharlal Nehru)

GROUP D
ENGLISH GRAMMAR :3‘@1@ ISR
Total Marks : 10 57942 S0
Each question carries One Mark : 2fSto! 241 A3 > 799

141. Which is the noun of the following?
a. was b. old c. read d. book
142. Which is the proper noun of the following?
a.Assam  b. glass c. tree d. pen
143. Which is the correct verb form of the following?
1) Rohan — cricket every day.
a.plays b. play c.played d.playing
144. Which is the correct verb form of the following?
1) [—a car last month.
a. buy b.buying c.bought d.buys
145. Choose the right determiner from among the alternatives given

below.
1) This is — university.
a. the b. an c.a d. few

146. Choose the right determiner from among the alternatives given



below.
1) There are — pens on the table.
amuch  b.many  c.little d.a

147. Choose the right preposition to fill up the following blank.
1) He goes to school — foot.
a. by b. at c.on d.in

148. Choose the right preposition to fill up the following blank.
1) Rita was born — 2005.
a.at b.in c. from d. with

149. Which words of the following are in alphabetical order?
a. strong, tall, young, old
b. old, strong, tall, young
c. tall, strong, young, old
d. young, tall, old, strong

150. Which words of the following are in alphabetical order?
a. sat, set, son, sun b. son, set, sun, sat
c. sun, son, set, sat d. set, sun, son, sat
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